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Answer ALL questions. Write your answers in the spaces provided.

Some questions must be answered with a cross in a box [X.
If you change your mind about an answer, put a line through the box ¢ and then
mark your new answer with a cross X.

1 Figure 1 shows the dot and cross diagram for a molecule of ammonia.

Figure 1

(@) (i) What do the dots and crosses represent in the diagram?

[0 A electrons
[ B neutrons
[J] C protons
[0 D nuclei

(ii) Give the formula for the molecule of ammonia.

(b) () Ammonia can be manufactured by the Haber process.

The word equation for the reaction is
nitrogen + hydrogen = ammonia

State the meaning of the = symbol.
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(i) In the Haber process, the percentage yield of ammonia at equilibrium
changes with temperature.

Figure 2 shows how the percentage yield of ammonia at equilibrium changes
with temperature.

percentage yield 100~
of ammonia
at equilibrium 90 +
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temperature in °C

Figure 2

State what happens to the percentage yield of ammonia at equilibrium as the
temperature increases.
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i) Use the graph to find the percentage yield of ammonia at equilibrium at 450°C.
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(c) Ammonia reacts with nitric acid to form ammonium nitrate. L3858

(i) Complete the word equation for this reaction. o

(i) An ammonium ion has the formula NH4+.
A nitrate ion has the formula NO,".

Which of the following is the formula for ammonium nitrate?

(1) £
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(i

ii) Explain why farmers spread ammonium nitrate on their fields. S
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s

2 (a) Atitration of sodium hydroxide solution with hydrochloric acid can be carried out
as follows

1 apipette is used to measure 25.00cm® of sodium hydroxide solution into a
conical flask

2 afew drops of indicator are added to the sodium hydroxide solution

the burette is filled with hydrochloric acid

4 the hydrochloric acid is added to the sodium hydroxide solution until the
indicator changes colour.

w

(i) Describe how the pipette should be used to measure exactly 25.00 cm’ of
sodium hydroxide solution into the conical flask.

(2)

(i) The burette is first washed with water.
It is then rinsed with some of the acid before it is filled with the acid to begin
the titration.

Explain why the burette is rinsed with the acid.
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(b) Universal indicator solution is not a suitable indicator for an acid-alkali titration.

(i) Give the name of an indicator that is suitable for use in the titration of sodium
hydroxide solution with hydrochloric acid.

(1)
(ii) Universal indicator goes through a series of gradual colour changes as the pH
changes in a solution.
Give a reason why universal indicator is not a suitable indicator to use in an
acid-alkali titration.
(1)

(c) Figure 3 shows some titration results obtained from an experiment in which an

alkali is titrated with an acid.

titration
rough 1 2
final burette reading in cm’ 25.75 49.35 23.70
initial burette reading in cm’ 0.00 25.75 0.00
volume of acid used in cm’ 25.75 23.60 23.70

Figure 3

Calculate the accurate volume of acid reacting with the alkali.
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-
3 (a) Atoms contain electrons, neutrons and protons.
(i) Draw one line to link each particle to its correct relative charge.
(2)
particle relative charge
electron +1
neutron 0
proton -1
(i) Which of the following is the relative mass of a proton?
(1)
0 A o
0B
1837
] c 1
0] D -1
(b) Argon is in group 0 of the periodic table.
Identify, using the periodic table on the back cover of this paper, which of these
elements is in the same period as argon.
(1)
0 A bromine
0 B iron
[0 € magnesium
[0 D xenon
.
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(c) Figure 4 shows the atomic number and mass number of two isotopes of argon.

isotope atomic number mass number

argon-38 18 38

argon-40 18 40

Figure 4

Describe the structure of an atom of argon-38 and of an atom of argon-40.

(Total for Question 3 = 7 marks)
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4 (a) The molecular formula of butene is C,H,.

Which of the following is the empirical formula of butene?
(1)

A CH
0 B CH,
0 C CH,
D (CH,),

(b) Calculate the relative formula mass of butene, C,H,.

(relative atomic masses:H=1,C=12)
(2)

(c) When burnt completely in air, butene forms carbon dioxide and water.

(i) Balance the equation for this reaction by putting numbers in the
spaces provided.
(2)

C4H8 + 6O2 -

(i) Describe the test to show that a gas is carbon dioxide.
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(d) Substance X is a gas at room temperature.
It is a simple molecular, covalent substance.

Which row of the table shows the properties that substance X is most likely to have?

(1)

boiling point relative solubility
in °C in water

CTA -6 low

OB 600 high

Oc -6 high

LID 600 low

(e) Diamond has a giant covalent structure.

State one property of diamond that is the result of its giant covalent structure.

(Total for Question 4 = 9 marks)

0
250X
ARE

LA TNE

RILLARKLLRK

X
a0
:
<3
<X

X
Py

0K
XK
pPatetated
¥

boted
SSEERS
LHIRAK
Kmigsc
SRS
S S
foToele!
RIS

LY
o’
) NQ
ép <

OIS
RIS
G AT atalis
1%

%

KRR

P
2L

R
]
9%

X KX ER KA IKRK A A
o
205!

o

QELRIIELRKEE,
K SRIESESLS RN

9%
0%

KRR

0
85
b3

0
54
LKL
5
%5

ORI AR IAK AR XA
s
RRRAASKELELLKL

%%

%

. J
11

R 0D 0 R 0 Turn over »
P 5 2 4 7 2 R A 01 1 38 2




( R

5 Two compounds of barium are barium sulfide and barium chloride.

(@) The hazard symbol shown in Figure 5 is on bottles containing barium metal.

Figure 5

0
S
y -
v
b

State the meaning of this hazard symbol.

00
e
N

0K

—
-
~
664
3
B9800
2R
SRS
25
355

(c) Barium chloride is toxic.

Explain one safety precaution that should be taken when using barium chloride.
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(d) (i) A beaker of barium chloride solution and a beaker of dilute sulfuric acid were
placed on a balance, as shown in Figure 6.

barium chloride dilute sulfuric acid

solution

balance

/

Figure 6
The total mass reading on the balance was 25.7 g.

The dilute sulfuric acid was poured into the barium chloride solution and the
beaker replaced on the balance, as shown in Figure 7.

mixture

balance
////////

Figure 7
The mixture formed contained a white precipitate.

State the total mass reading on the balance after the reaction.

(i) Give the name of the white precipitate formed by the reaction of
barium chloride solution with dilute sulfuric acid.
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(e) Solid sodium chloride is dissolved in water.

The sodium chloride solution is electrolysed in the apparatus shown in Figure 8.

6Vd.c.

_O o_
supply

VL

/ glass beaker
/ sodium chloride solution

Figure 8

(i) State why sodium chloride solution, rather than solid sodium chloride, must
be used in this experiment.

(i) The formulae of the ions present in the sodium chloride solution are
Na* cr H* OH"

Circle the ions that would be attracted to the anode.

(iii) Molten lead bromide can be electrolysed to form molten lead and bromine gas.

Explain how a student could modify the apparatus shown in Figure 8 to carry
out this electrolysis.

(Total for Question 5 = 10 marks)
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6 Aninkis a mixture of coloured substances dissolved in water.

(@) Which method is used to separate the coloured substances in the ink?

A chromatography
crystallisation
filtration

C
D fractional distillation

(b) The apparatus shown in Figure 9 can be used to separate water from ink.

condenser

heat

Figure 9
(i) Cold water flows through the condenser.

On Figure 9 use arrows to show where the water should flow in and where it
should flow out.

(1)

(1)
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(i) Explain why a condenser is used.

(i

ii) The flask was heated with a Bunsen burner.

Give the name of an alternative piece of apparatus that could be used to heat
the flask.

particle of water \8.000.0

@] )
particle of coloured /.OOOOO

substances

Figure 10

In the boxes below, draw the arrangement of particles that would be expected
at A and B shown in Figure 9.
(2)

particles at A particles at B

L J
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(d) Changes of state between the three states of matter are shown in Figure 11.

melting evaporating
SOLID —= LIQUID — GAS
freezing condensing

Figure 11
The changes shown are physical changes.

Explain why these changes are called physical changes rather than chemical changes.
(2)
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s

7 *(a) Pure metals are often converted into more useful alloys.
For example, aluminium is converted into an alloy used in aircraft, iron is
converted into an alloy used in cutlery and gold alloys are used in jewellery.
These processes of alloying change the structures of the metals.

Some properties of pure aluminium, iron and gold are shown in Figure 12.

density - relative
ing cm™ malleability strength
aluminium 2.70 easy to bend low
iron 7.75 easy to bend low
gold 19.3 easy to bend low
Figure 12

Explain how alloying changes these pure metals to make the alloys more suitable
for the given uses.
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(b) Iron objects can corrode when exposed to the atmosphere.
(i) Corrosion involves the oxidation of iron.

State what is meant by oxidation.

(i) Painting iron objects prevents corrosion.

Explain why painting iron objects prevents corrosion.

(2)

(iii) Corrosion of iron objects can be prevented by painting them or by
electroplating them.

State one other way of preventing the corrosion of iron objects.
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(c) The apparatus shown in Figure 13 was used to electroplate a spoon with nickel.

1

R s

| / electrolyte

— | spoon as cathode

nickel anode — |

Figure 13

(i) State to what the anode and cathode have to be connected in order to carry
out the electroplating.

(i) Predict the name of a substance that could be dissolved in water to form the
electrolyte for this electroplating.

(Total for Question 7 = 12 marks)
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s

8 (a) State two characteristic properties of metals.

PPOPEIEY T

property 2...

(b) Acids are used to make salts.

Give the name of the acid used to make chlorides.

(c) Salts of metals can be prepared by reacting the metal with an acid to produce the
salt and hydrogen.

(i) Describe the test to show that the gas is hydrogen.

(ii) Nickel is a metal.

Explain how the structure of a nickel atom, Ni, changes when it forms a nickel ion, Ni**.
(2)
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(d) A nickel sulfate solution is made by dissolving 23.5 g of nickel sulfate to make
250 cm?® of solution.

Calculate the concentration of the solution in gdm™.

(2)

(e) Excess solid nickel carbonate is added to dilute sulfuric acid in a beaker.

nickel sulfuric nickel carbon

+ . - + .. + water
carbonate acid sulfate dioxide

Nickel sulfate is formed in solution.

Describe how a sample of pure, dry nickel sulfate crystals can be obtained from the
mixture of nickel sulfate solution and excess solid nickel carbonate in the beaker.
(3)
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Most metals are extracted from ores found in the Earth’s crust.

The method used to extract a metal from its ore is linked to the reactivity of the metal.

Part of the reactivity series is shown in Figure 14.

calcium most reactive
L. A

aluminium

zinc

iron

copper

gold least reactive

Figure 14
(a) Iron ore contains iron oxide.

Iron is extracted from iron oxide by heating the oxide with carbon.

iron . carbon
. + carbon — iron + . .
oxide dioxide

(i) In this reaction
carbon is reduced

iron oxide is neutralised

iron oxide is reduced

I I Iy
O N ® >

iron is oxidised

(1)
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(i) The formula of the iron oxide is Fe,O,.

Calculate the maximum mass of iron that can be obtained from 240 tonnes of
iron oxide, Fe,O..

(relative atomic masses: O = 16, Fe = 56)

mass of iIroN = ... tonnes

(b) Aluminium cannot be extracted by heating its oxide with carbon.
Aluminium has to be extracted from its oxide by electrolysis.

Explain why.
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*(d) Aluminium is extracted from its ore by electrolysis. K855
Iron is extracted from its ore by heating with carbon. SR
Both metals can also be obtained by recycling. S

. . . . . . % o
Explain the advantages of recycling aluminium and iron rather than extracting SE

them from their ores. 82
(6)
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10 (a) Hydrogen burns in air at a temperature well above 100°C to form water.

() The boiling points of hydrogen and water are shown in Figure 15.

O
o
i
boiling point in °C =
hydrogen -253 §
oo
water 100 SR
Figure 15

Use this information to add the missing state symbols to the equation for the
reaction taking place as the hydrogen burns.

2H(....) + O(g) — 2HO(.. )

(i) The atom economy for the reaction in (i) is 100%.

State how the equation shows that the atom economy is 100%.

(b) Lead can be obtained by heating its oxide with carbon.
The balanced equation for the reaction is

2PbO + C — 2Pb + Co,

VAUV SIHL NI ALISM LON 0

Calculate the atom economy for the production of lead in this reaction.
(relative atomic masses: C=12, 0 =16, Pb = 207
relative formula masses: PbO = 223, CO, =44)

Give your answer to two significant figures.

LAANE
KRR
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(c) (i) Inan experiment to produce lead, 7.67 g of lead are obtained.
The theoretical yield of lead for the experiment is 11.80g.

Calculate the percentage yield of lead in this experiment.

(2)

(i) In most reactions, the percentage yield of any product is less than 100%.

Give two reasons why the percentage yield is less than 100%.

(Total for Question 10 = 11 marks)

TOTAL FOR PAPER = 100 MARKS




ORI IERKLARKIA ORI AERIIAKHAN KA OXHEARKLARKLA

CRRELKS R R R R R R R R R R ORI EIREIIEIRKES R RRLLLRLLIRIELS
BERS e o Y o e st o 7 8 IR ITEIR PSSR
ARER: FETES AR Ao ot et oo oetotenstotetel 1 L 6 RELES] R SXHIIELLRRKISS
Reetetetetotols! CRRLERKLS RELRRIERRKESRKARKHSKHKRKAKRS ! CRRLLRRLLRKLERRAES

“IaqUINU dJOYM }SedU dY} 0} PaPUNOI US| JOU dARY dULIOJYd pue 1addod Jo sassew d1uwole aAne[al ay |

'a/qe} apoLiad ay} jo Jied siy) wo.uy papIwo aJe L/ 0} §G WO SIoQUINU dIUIO)e Y}IM SpUsWald ay]

98 a8 8 €8 28 18 08 6. 8. yvA 9. G. 174 €L A 1S 9¢ 1%}
uopel aunejse wniuojod yinwsiq pes| wnijeyy Anosew plob wnupeyd wnipul wnjwso wnjuays uaysbuny wnjejuey wniuyey wnueyjue| wnueq wniseed
uy w od g ad 1L BH ny d 2| SO 9y M el #H *B71 eg £20]
[eeel | [oie]l | [e02] 602 102 {4 Xor4 161 g6l z6l 061 98l v8l 18l 8.1 6EL L€1 €el
12 €S s LS 0S 61 1514 VA4 o 14 144 (9274 A4 Ly o 6€ 8¢ YA
uouax aulpol wnunjey Auownue uiy wnipul wnjwpes J8A|IS wnipejied wnipoys wniuayni wnpauyos} wnuapgAjow wnigoiu wnjuooz wnupk wnjuoss wnipigni
aX | a1 qas us uj PO By Pd Uy ny o1 O aN 1z A 1S aqy
LEL pxa" 8¢l acl 6Ll Gl 43" 801 90l €01 10]3 [gel 96 €6 16 68 88 G8
9¢ Ge ve €e A% L 0¢ 6¢ 8¢ lC 9C 14 ve €c Zc ¥4 0c 6l
uoydAiy aujwoliq wnuajes olussie wniuewsb wnijef ouiz Jaddoo o1 Jleqod uou asauebuew wniWoIyd wnipeueA wniuey wnipuess wnipes wnissejod
M 19 as svY 29 eo uz no IN 02 94 Un 1 A 1L oS ed |
8 08 6. 7 €L 0. <9 G'€9 6G 6S 9¢ 1] 4%} LG 514 14 0] 6€
8l YA 9l Gl 145 €l cl Ll
uobue auLojyd anjns snioydsoyd uool|is wnuiwinfe wnisaubew wnipos
v 12 S d IS v B eN
0)74 §'Ge A% Le 8¢ yxé4 ve €c
0L 6 8 L 9 S Jaquinu (uojoud) olwoje v
uoau aupony uabAxo uabouu uogJed uoioq aweu wniifiaq
eN 4 o N 2 g loqwiAs o1woje °g
0c 6l 9l 145 Zl Ll SSew dlwoje aAljelal 6
z L Aay
wnigy uaboipAy
9H H
14 b
0 L 9 G 14 € 4 3

sjusawia|d ayj} Jo ajqe} aipoltad ay|

P 5 2 4 7 2 R A 0 3 2 3 2

32





